
UC Santa Cruz AMS 5 Spring 2018

Exam 1

SOLUTIONS

1. The histogram below charts household income in the U.S. in 1973 on the density scale. Use this
histogram to answer the following questions. Show your work/explain your answers.

(a) (3 pts) The percentage of households with incomes in the range $7,000 to $15,000 is about 31%,
41% or 51%. Which is it? Show your work.

Answer: 41 = 3 × 5 + 5 × 5.2.

(b) (2 pts) Approximately what percentage of households had incomes of more than $20,000?

Answer: 20-25 about 2.5 × 5 = 12.5, 25-50 about 0.25 × 25 = 6.25, combined, about 18.75%

2. A large study investigated the effects of diet on general health in a large sample of households.
For men and women in each age group, those who had a diet rich in fruits and vegetables were on
average somewhat healthier than those who ate little fruits and vegetables, but the those who who
ate little fruits and vegetables were on average much healthier than those who recently switched
from such a diet to one that was high in fruit and vegetables.

(a) (2 pts) Was this a controlled experiment or an observational study? Explain.

Observational study because people choose their own diets. (The diets are not assigned by the
investigators).

(b) (1 pts) Why did the investigators study men and women in different age groups separately?

To control for the confounding effect of age and gender on health.
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(c) (2 pts) True or False: based on this study, it appears that it is healthier to to eat a lot of fruit
and vegetables, but if you currently don’t eat a lot of fruit and vegetables, then it is healthier
not to start doing so.

Explain your choice.

False. As in the homework problem on smoking and health, the health of the people who switched
diets, just before they switched is a confounding variable. It is likely they switch because their
health was declining.

3. A biometric survey of 100 college students found that their average weight was w = 140 lbs, with
a standard deviation of SDw = 27 lbs; their average height was h = 60 inches with a standard
deviation of SDh = 2.4 inches.

(a) (2 pts) Find the average height and weight of the students in feet and ounces, respectively.

(1 lb = 16 ounces and 1 foot = 12 inches.)

Average height in feet: hf =
60

12
= 5 feet.

Average weight in ounces: wo = 140 · 16 = 2240 ounces.

(b) (2 pts) Find the standard deviations for height and weight in feet and ounces, respectively.

SD for height in feet: SDh =
2.4

12
= 0.2 feet.

SD for weight in ounces: SDw = 27 · 16 = 432 ounces.

(c) (1 pt) Later, the investigators realized that they had made a data entry error for one of the
students and listed his weight as 20.0 lbs instead of 200 lbs. What is the correct average weight
(in lbs) of the students in this study? Show your work.

Original sum of weights: 140 · 100 = 14000.

Correct sum of weights: 14000 − 20 + 200 = 14180.

Correct average of weights: 14180/100 = 141.8.

4. The average height of the adult population of Whoville is 33 inches, with a standard deviation of
2 inches. Assuming that the histogram for heights follows the normal curve, answer the following
questions. Show your work.

(a) (3 pts) Approximately what percentage of the adult population of Whoville are between 30 and
36 inches tall?

Whos who are between 30 and 36 inches tall, are between
30 − 33

2
= −1.5 standard deviations

below average and
36 − 33

2
= 1.5 standard deviations above average.

This means that the percentage of such Whos is equal to the area under the normal curve
between −1.5 and 1.5, which is 86.64%, from the table.

(b) (2 pts) Approximately what percentage of the adult population of Whoville taller than 34
inches?

Whos who are over 34 inches tall are more than
34 − 33

2
= 0.5 standard deviations above

average.
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This means that the percentage of such Whos is equal to the area to the right of 0.5 under the
normal curve, which is

50% − 1

2
T (0.5) = 50% − 38.29%

2
≈ 30.86%.
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